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[m/s] [m/s] [C] [C] [C] [%] [%] [%] [%] [hPa] | [hPa] [mm] [ mm] [mm]
0l 0.8 @mlLd| 7.4| M E| 25.9] 31.4] 22.3| 92.3] 99.4] 69.7| 92.7| 994.3] 1008.4] 3.0 7.0] 21.0 o 2 =
02 2.4| BigiE| 11.0| mEE| 27.6| 31.6| 25.6| 89.9| 98.3| 74.4| 91.8| 996.0| 1010.1| 0.0l 0.0 0.0 B B i
03 1.4 dJem| 8.9 mm| 25.7| 30.1| 22.9] 90.7| 98.6| 67.7| 91.4| 995.8| 1010.0| 0.5| 2.5 4.0 E S S
04 1.2 ml 7.6 m| 25.6| 30.5| 21.3| 79.8| 98.8| 53.6| 87.9| 995.7| 1009.9] 0.0 0.0 0.0 B B i
05 1.3| | 8.1| mimad|  25.9| 31.8| 21.0| 78.5| 96.1| b51.6| 85.0| 995.2| 1009.4| 0.0] 0.0 0.0 5 B 2
06 1.5 |l 86| mwm| 27.2] 32.1| 22.7| s80.9| 97.2| 56.3| 83.7| 997.1| 1011.3] 0.0 0.0 0.0 B B i
07 2.1| Bimis|  8.9| mEw| 27.4| 31.3| 24.1| 83.5| 93.3| 64.7| 83.6]| 1000.2| 1014.3] 0.0 0.0 0.0 = I 0%
08 1.7| | 9.0 mEw| 27.7| 31.8| 24.8| 83.5| 95.8| 63.0] 83.5| 999.9| 1014.0] 0.0 0.0 0.0 s 5 WS
09 1.6 m| 9.5 mEE| 27.9] 33.3] 23.1| 76.0] 96.9| 50.8| 81.2] 1001.4| 1015.6] 0.5 0.5| 0.5 5 5 i
10 1.7 dews| 9.5 ml 28.0| 34.1| 24.2| 80.7| 98.6| 48.6| 81.0| 1004.1| 1018.3] 7.0 9.5 9.0 s B 2
11 1.6| | 9.2| mmw|  27.8| 32.0| 24.1| 87.0] 98.0| 66.6| 82.7| 1004.3| 1018.5| 0.0 0.0 0.0 I E o
12 1.7| | 9.1 mw| 28.1| 32.0| 25.4| 85.8| 97.4| 5.5/ 83.6]|1001.9| 1016.0] 0.0 0.0 0.0 s B B
13 1.8| s | s8.2| mmw| 27.4| 30.2| 25.6| 87.5| 96.9| 68.6| 84.7| 997.5| 1011.6] 0.0 0.0 0.0 B at o
14 1.8| mEE| 9.8 ml 27.1| 32.0| 22.9| 83.6| 98.8| 59.7| 84.3| 996.9| 1011.0] 5.0| 13.5| 19.0 5 b5 =
15 1.6| Brasw|  9.5| M| 27.5| 31.8| 24.7| 88.7| 99.4| 67.7| 85.6| 999.0| 1013.1 1.5| 3.5 8.0 E i 2
16 0.7| wmm| 6.3 dJed| 26.2] 209.6| 25.0| 93.7| 98.8| 75.5| 88.0|1002.8| 1017.0| 3.5| 9.5 17.0 B ] S
17 1.2| s | 7.3 mmw|  27.0| 30.7| 24.3| 88.8| 9s.6| 69.1| 83.2|1002.1| 1016.3] 0.0 0.0 0.0 = B o
18 1.5| m#| 9.4 wmw| 28.3| 32.4| 25.7| 87.8| 97.5| 61.1| 88.0| 1000.7| 1014.8] 0.0 0.0 0.0 = . o
19 1.5 dew| 9.4 mw| 27.7| 33.3| 24.9| 85.8| 98.3| 59.7| 87.3| 1001.4| 1015.5| 4.0] 5.0| 5.0 B S o
20 1.7| sdes | 10.4 #| 28.3| 34.6| 23.9| s82.8] 98.3| 552/ 8.9| 999.0| 1013.1] 0.5 0.5/ 0.5 5 5 5
21 2.2| wRgd| 13.3 f| 28.6| 34.7| 25.3| 80.4| 97.4| 50.2| 84.2| 995.3]| 1009.3] 0.0 0.0 0.0 B I o
22 2.5| EEE| 13.1 M| 26.4| 30.3| 24.1| 92.2| 98.8| 77.2| 86.6| 991.5| 1005.6| 2.5| 6.5 12.5 5] i) o
23 1.6| farvE|  7.7| mapad|  24.1| 27.4| 21.8| 81.5| 98.3| 63.0| 85.1| 997.1| 1011.4| 0.5] 0.5 1.0 o a 2
24 1.7| dems| 148 JrmE| 221 26.9| 18.2] e5.4] 90.5| 46.6| 79.1| 1003.0| 1017.5| 0.0] 0.0 0.0 5 IS b5
25 27| Jees| 12.8|  drew| 22,4 26.5| 17.2| e4.3| 81.9| 48.3| 74.6| 1000.7| 1015.1] 0.0 0.0] 0.0 o b i
% 1.2| megw|  8.7| mmw| 24.7| 20.9| 20.1| 78.4| 92.4| 55.5| 75.7| 999.4| 1013.6] 0.0 0.0 0.0 = I o
27 0.9 ml 5.1 M| 24.0| 26.4| 22.0| 92.2] 98.8] 80.8| 80.6| 997.5| 1011.8] 0.5| 1.5 2.5 S b i
28 0.9 M| 5.7| mEgdE| 23.6| 26.7| 21.3| s88.5| 98.6| 74.1| 82.9| 1000.3| 1014.6] 0.0 0.0 0.0 o o B
29 1.1 dems|  7.0| dedves| 22,9 24.8| 21.5| 84.7] 96.1] 65.2| 83.4| 1004.4| 1018.9] 0.0] 0.0 0.0 2 2 =
30 1.3| mw| 106 fi| 23.2| 28.7| 20.4| 78.0| 96.1| 51.3] 81.7| 1002.2]| 1016.6] 0.0 0.0 0.0 B e 2
THEE] 1.6] BEE 26.2 83.8 84.5] 999.2] 1013.4
mEfE| 7.9 dtw|  14.8] b 34.7 99.4 92.7| 1005.9] 1020.5|  7.0| 13.5| 21.0
e | 09/25 09/24 09/21 09/15 09/01| 09/29| 09/29| 09/10| 09/14| 09/0
11:32 16:14 11:55 02:47 24:00| 21:39| 21:39] 00:10] 21:50
RAEfE 17.2 46.6| 74.6| 989.2| 1003.1
Gl 09/25 09/24| 09/25| 09/22| 09/22
03:54 13:30| 24:00| 11:05| 11:05
T HAE 100.0
0% 29 0 12
B [o] BEEE B[4 Jbdb s Jh EE[EH o EE BB R Ej T EE] V5 g 75 P (R JevE Jbdk vl g
g 2.4 2.0 1.7 3.0 2.6 4.2 5.3 16.2 13.4 4.3 3.8 1.9 2.2 5.2 9.9 5.1 16.8




